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The moon is the Earth’s natural ___satellite___, held in place by the force of _gravity___ 380 ___thousand__ km from Earth.  It orbits us approximately every __twent__ __eight__ ___days_.  
The moon has a _mass_____ of 0.012 times the Earth’s and the force of gravity on the surface is __one____ ___sixth_____ of that on Earth. 

The apparent monthly changes in shape of the moon are called ______phases____.  When the moon appears to be getting bigger, we say it is __waxing__ and when it appears to be getting smaller it is __waning____.  The word used to describe the phase between first quarter and full is __gibbous____.  We can see the surface features of the moon better when the phase is about half-full because the shadow _______________ gives good contrast, showing the shadows case by crater walls, mountains etc.  

We only see one side of the moon because it ______________ in the same amount of time that it orbits earth.  This type of orbit is known as ______________________________.  We see slightly more of the moon than 50% because the moon is out of step from time to time, when it is closest to Earth for example.  This is called ___libration___.

Light reflected off the Earth onto the moon when it is a crescent is called __Earth shine_____.
When the Sun, Earth and Moon are aligned and the Earth’s shadow comes between the moon and the sun, we see a __Lunar__ eclipse.  The darker area is called the _umbra___ and the lighter area around this is called the penumbra.  We don’t get one every month because of the ___________ of the moon’s orbit.

The moon’s surface is covered in a loose layer of rock called ______________.  The most common rock on the surface is basalt from __volcanic____ eruptions which form lava plains called ___mare_____________, covered with craters originating from __meteor_||_ impacts.  The material thrown out on to the moon’s surface when this happens is called _____________________.  We think the mare are _younger__ than the moon’s highland because there are fewer craters here.
The American __Apollo___ and the Russian __________missions sent humans to the moon.
The moon has no ___atmosphere____ because __gravity__ is too weak to hold on to it.  The evidence for this is stars don’t flicker when they are about to be occulted by the moon.   
